


INSTALLATION TOOLS

Full range of High Quality Inserting tools for

all applications and any volume.

* Precision STIHand Taps and Machine Taps

Spiral Flute for all your job requirements

Precision Gauges for strict tolerance work

and precision inspection

« Pneumatic and Electric tools also available

for high volume and strip feed applications.

Basic Hand Tool
HeliCal Inserts provide positive means for

protecting and strengthening all tapped threads.

i They are mirror-smooth, reinforced internal
1l Inserting

threads of cold rolled 18-8 stainless steel, of
hardness 43-50Rc, or other specialized material,
imeter inserts with hardness for in excess of the usual tapped
materials

The outstanding engineering features of HeliCal
inserts have established their widespread use in

nd inserts are also
the fields of aerospace, industrial and military

ndard UNC &

equipment manufactures.

EEWParts Plus..

12 Gregory Drive, Unit 1
South Burlington, VT 05403
Phone 802.489.5023

Fax 802.489.5024



TOOL SELECTION CHART

|
M =¥ | =
|C Tooling

N SCREW THREAD TAPS 25| 38

a = = | THREAD GAUGES | INSERTINGTOOL |  TANG BREAK OFF Ex g v

& 3 3 58| £

o = £ '™ (-9 < @ Inl

E 2| 8| g | % | ¢

2 £ a & & [Ciass28|ciass 38| FR sL FR sL FR
1 ] 3 4 s 6 7 ] 9 10 1 12 13 15

M2x04 020040P 0200408 (200408 020040V 200405 200406 ST1300 ST1300 MTB102 122706
M22x045 0220458 022045P 0220458 0220458 022045V 220455 220456 ST sT1an TBO-50 TBO-50 122706
M2.5X045 025045R 0250459 0250458 (250458 025045V 250455 250456 ST1248 ST1248 TBOS0 TBO-50 ATB-50 122706
MIX05 0300508 030050° 0300508 0300508 030060V 300505 300506 ST1281 ST1281 TBO-52 TBO-52 ATB-SZ 1221-08
M35X08 (0350608 0350607 0350608 0350608 035060V 350605 350606 9665-1035 $665-1035 TBOS3 TBOS2+ ATB.52 1227-06
M4 X0.7 040070R 40070F 0400708 400708 040070V 400708 400706 9865-104 8865104 TBO-54 TBO-53 ATB-53 122108
M45X0.75 045075R 045075P 0450758 450758 045075V 450755 450756 9865-1045 $665-1045 TBO-70 1227.08
M5 X048 050080R 050080P 0500808 0600808 050080Y 500805 500806 9865105 965105 TBO-55 TBO-54 ATE-54 12214
MEX10 060100R 0601007 0601008 0601008 060100V 601005 601006 §865-106 9865106 TBO-T1 TBO-T1 ATB-55 12216
M7 X10 070100R 0701007 0701008 0701008 070100V 701005 701008 9865-107 9965-107 TBOST TBO-56 12218
M8 X10 080100R 0801007 0801008 0801008 080100V 801005 801006 065408 9565-408 TBO56 TBO-58 ATB-56 12218
ME X125 0801258 080125P 0801258 0801258 080125v 801255 801256 9865-108 9665-108 TBOSE TBO-ST ATB-ST 12278
MEX125 090125 090125F 0901258 0901258 050125V 901255 901256 9865-108 9665109 TBO-5¢ TBO-53 122148
M10X 1.0 475 476 4 S 122746
MIDX 125 1001258 100125F 1001258 1001258 100125V 1001255 1001258 9865-510 9865-510 TBOB1 TBO-81 ATB-61 12146
MIOX 1S 100150R 100150P 1001508 1001508 100150V 1001508 1001508 9865110 9865-110 TBO61 TBO-80 ATB-82 122146
M1t X115 110150R 110150 1101508 1101508 110150V 1101505 1101508 9865-111 9865111 TBO-85 SMTB-111 122716
M12X 125" ST ST535 57536 ST537 122716
M12X1.28 120125R 1201259 1201258 1201258 120125V 1201285 1201258 9865512 9665-512 TBO68 TBO6T ATBET 122716
M12X15 120150R 120150P 1201508 1201508 120150V 1201505 1201508 9885412 9865412 TBO-68 TB8O-67 ATB-67 122716
MZX 175 120175 120175P 1201758 1201758 120175V 1201755 1201758 MP-112 SMP-112 TBO-6¢ TBO-69 ATB-6& 122716
M4 X125 525 1 o 845 542 122718
MidX15 140150R 140150P 1401508 1401508 140150V 1401505 1401508 MP414 SMP414 MTB414 SMTB414 122716
M14X20 140200R 140200P 1402008 1402008 140200V 1402005 1402006 MP-114 SMP-114 XT84 SMT8-114 122116
MIEX1S 160150R 160150P 1601508 1601508 160150V 1601508 1801508 MP418 SMP416 1106-10 SMTB416 122116
MIEX20 160200R 160200P 1802008 1602008 160200V 1602005 1602006 MP-116 SMP-116 XT8-10 XT8-10 1227-16
Migx15 525 2 846 843 122718
Migx15 180150R 180150P 1801508 1801508 180150V 1801505 1801505 MP41§ SMP418 1185-12 SMTB418 122718
Mi8X20 180200R 180200F 1802008 1802008 180200V 1802005 1802006 MP-218 SMP-218 MTB-218 SMTB-218 122718
M18Xx25 180250R 180250P 1802508 1602505 180250V 1802505 1802505 MP-118 SMP-118 MTE-118 SMTB-118 122718
M20 %15 200150R 200150P 2001508 2001508 200150V 2001505 2001506 MP420 SMP420 MTB420 SMTB420 122716
M20X20 200200 200200F 2002008 2002008 200200V 20020056 2002006 MP-220 SMP-220 MTB-220 SMTB-220 122716
M20X25 200250R 200250P 2002508 2002508 200250V 2002505 2002506 MP-120 SMP-120 MTB-120 SMTB-120 122718
M2X1S 220150R 220150 2201508 201508 20150V 2201505 2201506 MP422 SMP422 MTB422 SNTB422 122716
MZ2X20 220200R 2202000 2202008 2202008 220200V 2202005 2062008 MP-222 SMP-222 MTB-222 SMTB-222 1227116
M2ZX25 220250R 20250P 2202508 2202505 2202507 2202505 2202506 MP-122 SMP-122 MTB122 SNTB-122 1227-18
M24X20 240200R 240200 2402008 2402008 240200V 2402006 2402006 MP-224 SMP-22¢ WTB-16 USE PLERS 1221-18
M24 X3.0 240300R 240300P 2403008 2403008 240300V 2403005 2403006 MP-124 SMP-124 MTB-124 SMTB-124 12118
MZT X20 270200R 270200P 2702008 2702008 270200V 2702005 2702008 MP-227 USE PLERS USE PLERS 122118
M2TX3.0 270300R 270300F 2703008 2703008 270800V 2703005 27030068 MP127 SMP-127 USE PLERS USE PLERS 122716
M3 X20 3002008 3002007 3002008 3002008 300200V 3002008 3002006 MP-230 USE PLERS USE PLERS 122724
M0 X35 300350R 300350F 3003508 3003508 300350V 3003508 3003506 MP-130 SMP-130 USE PLERS USE PLERS 12271-24
M33X20 J30200R 3302009 3302008 3302008 330200V 3302005 3302008 MP-233 USE PLERS USE PLERS 122724
M33X35 330350 3303500 3303508 3303508 330350V 3303505 3303508 MP-133 SMP-133 USE PLERS USE PLERS 1227-24
M3EX20 3602008 3602009 3602008 3602008 360200V 3602005 3602006 MP436 USE PLERS USE PLERS 12724
M3EX40 360400 360400 3604008 3604008 360400V 3604005 3604008 MP-136 SMP-138 USE PLERS USE PLERS 122124
M38X20 390200 380200° 3902008 3902008 380200V 3802005 3902006 MP-539 USE PLERS USE PLERS 122124
M3 x40 390400 3904007 3904008 3904008 390400V 3004005 3904006 MP-139 SMP-139 USE PLERS USE PLERS 1214

* Spark Plug Sizes www.aeroparts-plus.com



TAPPED HOLE
FITTED
METRIC e

To BS 4377 MINOR MAJOR CLASS 5H CLASS 6H DIA.

DIA, DIA.

SIZE DRILL
M2X04 210 218 -209 252 230 226 231 226 157
M22 X 045 230 200 -230 279 253 249 255 249 17
M25 %045 260 270 -280 309 283 278 285 279 201
M3X05 310 A an 365 337 33 336 333 246 B
M35 X 06 360 s 368 428 394 389 396 389 285 Major dia.
MeX07 410 429 415 481 451 446 453 448 a4 (minimum)
MA5X0T5 470 481 466 547 504 459 506 498 369
M5X08 520 533 517 604 556 552 560 552 413
M6X 10 520 641 62 730 672 665 674 565 492
MTX10 720 741 2 830 772 785 774 765 592
M8X10 820 841 S22 930 872 865 874 885 692
MB X125 830 848 827 962 889 881 891 881 665
MeX125 930 948 927 1062 989 881 991 981 765
M1I0X10* 1030 10.39 -10.26 120 10.71 -1065 886
M10X 125 10.30 10 48 -1027 1162 1089 -1081 1091 -1081 8.65
MI0X15 1030 10.56 -1033 1195 11.06 -1097 11.08 1087 8.38
M11X15 11.30 11.56 -11.33 1295 1206 1197 1209 1197 838
mi2x125* | 1230 247 127 1361 12,80 -12.81 1054
M12X125 1230 1248 1227 1362 1290 1281 1263 1281 1065 ] S
Mi2X15 12.50 1232 1256 13.95 1307 1297 13.10 1297 EHECtIve dla.
Mi2X 175 12.40 1264 1238 1427 1324 1314 1327 -13.14 1011
M14X125° o6 14.40 -1428 1557 15.04 1497 1265 E
MI4X15 1430 56 1433 1595 1507 1487 15.10 1497 1238 Minor dia.
M14X2.0 1450 1473 1443 16.60 1541 1630 1544 -15.30 11.84 F——"’l
MIBX15 1625 1656 1633 1785 17,07 1697 17.10 1697 1438 |
MI6X20 16.50 1673 -1643 1860 1741 -17.30 1744 -17.30 1384
MIBX15° 23 1836 1824 204 18,15 -19.06 16,05
MIBX15 1825 1855 1833 1995 19.07 -18.97 18.10 1897 16.38
Migx20 18.50 1873 1843 2060 1941 -1930 19.44 -19.30 1584
M18X25 18.50 18.90 -1854 0125 19.74 -1962 16.78 1062 1529
M20X 15 2025 2056 -20.33 2185 2107 -2087 2110 -2087 18.38
M20X 20 2050 273 2043 2260 2141 -2130 2144 -2130 1784
M20X25 2050 0% 2054 2325 2174 2162 2178 2162 1720
M22X15 250 0% 23 795 2307 2297 2310 2287 236
M2X 20 2250 ni3 240 2460 2341 -2330 2344 -2330 1984
M22X25 250 2% 25 2525 274 2362 2378 2362 1928
M2¢ X 20 425 UT3 A4 %60 2541 -2530 2545 2530 2184
M24 X 3.0 U715 2505 2465 279 %09 2595 2614 2595 275
M27 %20 2750 78 AN 2960
M27 X 30 2750 805 2765 3090 2908 2895 2014 2695 B
M30X 20 3050 2043 3073 3260
M30X 35 3050 12 3076 55 3243 227 3247 02 %21
M3IX20 3350 343 3378 380
M3IX35 3350 un -3376 3755 3543 3527 3547 3527 221
M38X20 350 B4 673 3860
MIEX40 350 3734 9687 20 3876 3860 3881 -3860 3167
M38 X 20 3950 3943 3973 41680
M3g X 40 3950 04 3987 420 4176 4160 4181 4160 367
JaXS¢s|Parts Plus..
12 Gregory Drive, Unit 1 Tel: 802.489.5023

S. Burlington VT 05403-6058 Fax: 802.489.5024
sales@aeroparts-plus.com

wnanar asranarte-nliic com



